10 324.7kg
768.1kg 0.89kg 305.9kg 759.1kg
0.89%g
No.5.7 52.3cm? 8.5
cm 2.6¢cm No.6.4 55.6¢cm? 7.9cm
2.3cm
8 231.5kg
302.8kg 1.02kg 228 .0kg 292.4
kg 0.92kg
748.4kg 0.77kg
713.9kg 0.73kg
No.6.2 56¢cm? 8.3cm
2.9cm No.6.3 58.3cm? 7.9cm 2.5
cm
1.4%
2kg 1kg 10,6001V
18,020
8 10 2% 5kg
146 148
(H13 H15)

12 2000)



( 2 kg
800
10.6 =+ 0.6 103 =+ 11 n
324.6 =+ 287 305.9 + 28.0 )/9
1197  + 22 1179  + 35 200
2717 TE 02 271702 /
768.1 + 55.7 759.1 + 81.8
140.9 + 24 142.7 + 72
DG 089 =+ 006 089 =+ 008 o P
4795  + 273 4634 =+ 581 /Q/V
523 =+ 22 556 + 51 50
85 + 0.6 79 + 0.6
26 =+ 06 23 = 04
736 =+ 09 740 = 09 - /
BMSNo. 5.7 + 05 6.4 + 18 /
BCS 37+ 05 38+ 05 -
38 + 04 4.0 =+ 0.7 30
37 + 05 4.0 + 0.7
40 - 00 40 - 07 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27
BFS 30 = 00 30 = 00
50 =+ 0.0 50 =+ 0.0
A A A- A A
4089.4 + 2704 39782 + 612.6
368.0 + 68.8 404.3 &+ 142.9
4420 =+ 943 487.1 + 821
DM 4263.0 + 329.7 4248.7 + 654.4
TDN 3268.2 + 2426 32322 + 502.7
1kg TDN 74 + 0.2 7.1 =+ 0.4
kg
310
0 _a
- o |
79 = 01 76 =+ 04
2815 =+ 294 28 =+ 137 0
1076 =+ 40 1082 =+ 34 -
1027 = 01 10 = 04 /
W8 =+ H5 24+ 238 0
137 = 63 141 =+ 24 - °
DG 102+ ol 02 =+ 016
3B5 = 29 3098 =+ 185 P
1764 = 256 1371 = 132 - —
176 =+ 32 192 =+ 27 o~
DM ms = 21 459 =+ 27 m
TDN P74 = 273 203 =+ 158 8 9 10
kg TDN 46  + 02 47+ 10
( 2
102 =+ 01 00 =+ 04
3033 =+ 388 224 + 238
1148 =+ 52 141 + 22
2037 E 01 260 E 05 &0
U84 = 956 7139 =+ 666
405 =+ 55 1379 = 26 ™ /:"i
DG 077 __+ 010 073 =+ 008 "o
586 =+ 660 1353+ 482 o
560 =+ 43 583 =+ 62 &0 N
83 == 08 79 x= 11 09
29 =+ 03 25 =+ 05 sm "
739 =+ 08 %8 =+ 08
BMSNo. 62 =+ 16 63 =+ 24
BCS 34 =+ 06 37 =+ 08 40
40 = 07 42 = 12
40 = 07 42 = 02 )
42 =+ 05 43 =+ 08
BFS 30 =+ 00 30 =+ 00
50 =+ 00 48 =+ 04 0
51 A3 Aal oo A3 Aol 10 1112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29
0344+ 4900 641+ 3905
370 =+ 87 P2  + 283
3005 =+ 120 21+ 741
DM a769 + 5787 41836 + 3881
TDN P07  + 4215 31808 + 3082
lkg _ TDN 72+ 04 76 + 03




